Journal of Mathematical Extension Vol. 15, No. 1, (2021), 93-103

ISSN: 1735-8299

URL: https://doi.org/10.30495/JME.2021.1287

Original Research Paper

Gauss Summation Formula for Limit Summand Functions and Related Results

K. Eslami

Shiraz Branch, Islamic Azad University

M. H. Hooshmand*

Shiraz Branch, Islamic Azad University

Abstract. Regarding the Gauss multiplication formula for Γ -type functions, we introduce its dual formula for limit summand functions, namely Gauss summation formula. Also, we show that not only the Gauss multiplication for Γ -type functions is a simple result of this formula, but also provide an its improvement with several consequences and applications. Finally, as a note, we mention that a condition in two Webster's theorems is extra.

AMS Subject Classification: 40A30; 11Y60; 33E20 Keywords and Phrases: Γ-type function, gauss summation formula, limit summability, monotone function, summand function

1. Introduction

One of the most famous and useful mathematical constants is Euler-Mascheroni constant which is limit of the sequence $\sum_{k=1}^{n} \frac{1}{k} - \log(n)$, denoted by $\gamma = 0.57722156649...$ (see [1]). There are many Euler-type constants and thier generalization some of them were studied in [3, 8]. On the other hand, regarding to uniqueness of the gamma function, Bohr and Mollerup proved that the only log-convex solution f of the functional equation f(x+1) = xf(x), for x > 0, satisfying f(1) = 1 is the gamma function Γ . As a generalization of the theorem, Webster studied Γ -type functions satisfying the functional equation f(x+1) = g(x)f(x), in 1997

Received: June 2019; Accepted: October 2019

^{*}Corresponding author

[9]. In the paper, he coressponded to every function $g: \mathbb{R}^+ \to \mathbb{R}^+$, the following limit function g^* defined by

$$g^*(x) := \lim_{n \to \infty} g_n^*(x) = \lim_{n \to \infty} \frac{g(n) \cdots g(1)g(n)^x}{g(n+x) \cdots g(x)}; \quad x > 0,$$

which we call it gamma type function of g. In 2001, M.H. Hooshmand introduced a new concept entitled limit summability of functions [4] and he proved that Γ -type functions can be considered as an its sub-topic. Also, in 2016 and 2017 he introduced two others type of such summabilities entitled analytic and trigonometric summability of functions [6, 7].

2. Limit Summability and Γ -Type Functions

Let f be a real or complex function with $\mathbb{N}^* \subseteq D_f$, where $\mathbb{N}^* = \{1, 2, 3, ...\}$ and $\mathbb{N} = \{0, 1, 2, ...\}$. The summand set of D_f is defined by

$$\Sigma_f = \{x | x + \mathbb{N}^* \subseteq D_f\} = \{x | \{x + 1, x + 2, x + 3, \dots\} \subseteq D_f\}.$$

Hence $x \in \Sigma_f$ if and only if $\{x+1, x+2, \cdots, x+n, \cdots\} \subseteq D_f$. Also, for any positive integer n and $x \in \Sigma_f$ set

$$R_n(f,x) := R_n(x) = f(n) - f(x+n),$$

$$f_{\sigma_n}(x) = xf(n) + \sum_{k=1}^n R_k(x).$$

When $x \in D_f$, we may use the notation $\sigma_n(f(x))$ instead of $f_{\sigma_n}(x)$. The function f is called limit summable at $x_0 \in \Sigma_f$ (resp. on $S \subseteq \Sigma_f$) if the sequence $\{f_{\sigma_n}(x)\}$ is convergent at x_0 (resp. on S). The limit function of $f_{\sigma_n}(x)$ (resp. $R_n(f,x)$) is denoted by $f_{\sigma}(x)$ (resp. R(f,x) or R(x)) and it is called the limit summand function of f. Note that the domain of f_{σ} is

$$D_{f_{\sigma}} = \{x \in \Sigma_f | f \text{ is limit summable at } x\},$$

and if $x \in D_{f_{\sigma}}$ and $R_n(f,1)$ is convergent, then R(f,x) = R(x) = xR(1). It is important to know that $D_f \cap \Sigma_f = \Sigma_f + 1$, $f_{\sigma}(0) = 0$ so $0 \in D_f$. Also, if $0 \in D_f$, then $-1 \in D_{f_{\sigma}}$, and we have $f_{\sigma}(-1) = -f(0)$. If

 $R_n(f,1)$ is convergent, then $D_f \cap D_{f_{\sigma}} = D_{f_{\sigma}} + 1$. A necessary condition for limit summability of f at x is

$$\lim_{n \to \infty} (R_n(x) - xR_{n-1}(1)) = 0.$$

If R(1) = 0, then

$$f_{\sigma}(m) = \sum_{j=1}^{m} f(j), \tag{1}$$

for all $m \in \mathbb{N}^*$ and

$$f_{\sigma}(m) = -\sum_{j=0}^{-m-1} f(-j),$$
 (2)

if $m \in \mathbb{Z}^- \cap \Sigma_f$. It is proved that the following conditions are equivalent and every function satisfying one of them is called limit summable:

- a) f is limit summable;
- **b)** $f_{\sigma}(x) = f(x) + f_{\sigma}(x-1)$ for all $x \in D_f$;
- **c)** $D_{f_{\sigma}} = \Sigma_f, R(1) = 0.$

The most important criteria for limit summability which were introduced in [5] stated that convexity or concavity of f together with boundedness of $R_n(f,1)$, or monotonity with boundedness of f_n imply limit summability of real functions f. In [4], some connections between limit summand and gamma type functions (if exist) are stated. Also, it is shown that gamma type functions can be considered as a subtopic of limit summability. It is proved that Theorem 1.3 of [9] is a result of Corollary 3.3 of [4] for the special case M=0. Moreover, a main relation between gamma type function of $g: \mathbb{R}^+ \to \mathbb{R}^+$ and limit summand function of $\ln g$ is proved as follow

$$q^*(x) = e^{(\ln g)_{\sigma}(x-1)}; \quad x > 0.$$

Also, one of the results for the generalized Γ -type functions is Gauss multiplication formula which was introduced in Theorem 5.2 of [9].

3. Limit Summand of Shifted Functions and Gauss Summation Formula

In order to find a sum relationship corresponding to Gauss multiplication formula (in the topic of Γ -type functions) for limit summand functions, we are led to a fact which not only fulfills that objective but also it provides a more developed and indicates that the related summation formula is a consequence of the limit summand of the integer-shifted f(x-m) or f(x+m). We mention that if m is a positive integer number, then the functions f(x-m) and f(x+m) are called backward and forward shift function of f, respectively. The following theorem in fact presents a relationship for summand function of backward and forward shift and ential several important results.

Theorem 3.1. Let f be a real or complex function with domain D_f such that R(f,1) = 0 and m a fixed integer number. If $N^* \subseteq D_f + m$, then

$$\sigma(f(x-m)) = f_{\sigma}(x-m) - f_{\sigma}(-m), \tag{3}$$

for $x \in D_{f_{\sigma}} + m + 1$. Moreover, if m > 0 then

$$\sigma(f(x+m)) = f_{\sigma}(x+m) - f_{\sigma}(m) = f_{\sigma}(x) - f_{\sigma_m}(x) + xf(m), \quad (4)$$

for $x \in D_{f_{\sigma}} - m + 1$.

Proof. Let $m \ge 0$. If $x \in D_{f_{\sigma}} + m + 1$, then $x - m \in D_{f_{\sigma}} + 1 = D_{f_{\sigma}} \cap D_f$. Thus $x - m \in D_f$ and $x - m \in D_{f_{\sigma}}$. Hence the both f(x - m) and $f_{\sigma}(x - m)$ are defined. Now, put g(x) := f(x - m). Then, due to R(f, 1) = 0 and relation (2), we can write

$$g_{\sigma_n}(x) = xf(n-m) + \sum_{k=1}^n f(k-m) - f(k+x-m)$$
$$= xf(n-m) + \sum_{k=0}^{m-1} f(-k) - f(-k+x) + \sum_{k=1}^{n-m} f(k) - f(k+x)$$

$$g_{\sigma_n}(x) = xf(n-m) + \sum_{k=1}^n f(k-m) - f(k+x-m)$$

$$= xf(n-m) + \sum_{k=0}^{m-1} f(-k) - f(-k+x) + \sum_{k=1}^{n-m} f(k) - f(k+x)$$

$$= x(f(n-m) - f(n)) + f_{\sigma_n}(x) + \sum_{k=0}^{m-1} f(-k) - f(-k+x)$$

$$- \sum_{k=0}^{m-1} R_{n-k}(x).$$

Therefore,

$$g_{\sigma_n}(x) = f_{\sigma_n}(x) - \sum_{k=0}^{m-1} f(-k+x) - f_{\sigma}(-m) + xR_{n-m}(m) - \sum_{k=0}^{m-1} R_{n-k}(x).$$

Now, If $x \in D_{f_{\sigma}} + m + 1$, then $x \in D_{f_{\sigma}} + m \subseteq D_{f_{\sigma}}$ and considering R(f,1) = 0, we conclude that $R(f,x) = \lim_{x \to \infty} R_n(x) = 0$. Thus, g is limit summable at x as $n \to \infty$, and

$$g_{\sigma}(x) = f_{\sigma}(x) - \sum_{k=0}^{m-1} f(-k+x) - f_{\sigma}(-m)$$

= $f_{\sigma}(x-m) - f_{\sigma}(-m)$,

by Corollary 2.13 of [4]. Therefore, f satisfies (3).

Also, if $x \in D_{f_{\sigma}} - m + 1$, then $x + m \in D_{f_{\sigma}} + 1 = D_f \cap D_{f_{\sigma}}$. Thus $x + m \in D_f$ and $x + m \in D_{f_{\sigma}}$. Now, putting h(x) := f(x + m), and similar to the above part, we obtain

$$h_{\sigma_n}(x) = xf(n+m) + \sum_{k=1}^n f(k+m) - f(k+x+m)$$

$$= xf(n+m) + \sum_{k=1}^n f(k) - f(k+x) + \sum_{k=n+1}^{n+m} f(k) - f(k+x)$$

$$- \sum_{k=1}^m f(k) - f(k+x)$$

$$= xf(n+m) + f_{\sigma_n}(x) - xf(n) - \sum_{k=1}^m f(k) - f(k+x)$$

$$+ \sum_{k=1}^m R_{n+k}(x).$$

Therefore,

$$h_{\sigma_n}(x) = f_{\sigma_n}(x) + \sum_{k=1}^m f(k+x) - f_{\sigma}(m) - xR_n(m) + \sum_{k=1}^m R_{n+k}(x)$$
$$= f_{\sigma_n}(x) - f_{\sigma_m}(x) + xf(m) - xR_n(m) + \sum_{k=1}^m R_{n+k}(x).$$

On the other hand, if $x \in D_{f_{\sigma}} - m + 1$, then $x + m \in D_{f_{\sigma}} + 1 \subseteq D_{f_{\sigma}}$. Since $x + m \in D_{f_{\sigma}}$ and considering $R_n(x) = R_n(-m) + R_{n-m}(x+m)$, so $x \in D_{f_{\sigma}}$ and due to R(f,1) = 0, we conclude that R(f,x) = 0. Thus, h is limit summable at x as $n \to \infty$, and

$$h_{\sigma}(x) = f_{\sigma}(x) + \sum_{k=1}^{m} f(k+x) - f_{\sigma}(m)$$
$$= f_{\sigma}(x) - f_{\sigma_m}(x) + xf(m).$$

Hence, we arrive at (4) similar to the first case. Therefore, the proof is complete.

Corollary 3.2. If f be a real or complex limit summable function with $D_f = [1, +\infty)$, then

$$\sigma(f(x-m)) = f_{\sigma}(x-m) - f_{\sigma}(-m); \qquad x \geqslant m+1, \tag{5}$$

Example 3.4. For any fixed real numbers $\alpha > 0$ and $\beta < 0$, put $f(x) = x^{\alpha}e^{\beta x}$. Then, $D_f = [0, +\infty)$, R(f, 1) = 0 and for every integer $m \leq 1$ we have

$$f_{\sigma}(x-m) = \lim_{x \to \infty} ((x-m)n^{\alpha}e^{\beta n} + \sum_{k=1}^{n} k^{\alpha}e^{\beta k} - (k+x-m)^{\alpha}e^{\beta(k+x-m)})$$

$$= \sum_{k=1}^{\infty} \frac{e^{\beta k}}{k^{-\alpha}} + \frac{e^{\beta(x-m)}}{(x-m)^{-\alpha}} - \frac{e^{\beta(x-m)}}{(x-m)^{-\alpha}} - \sum_{k=1}^{\infty} \frac{e^{\beta(k+x-m)}}{(k+x-m)^{-\alpha}}$$

$$= Li_{-\alpha}(e^{\beta}) + \frac{e^{\beta(x-m)}}{(x-m)^{-\alpha}} - e^{\beta(x-m)} \sum_{k=0}^{\infty} \frac{e^{\beta k}}{(k+x-m)^{-\alpha}}$$

$$= Li_{-\alpha}(e^{\beta}) - e^{\beta(x-m)}L(\frac{\beta}{2\pi i}, x-m, -\alpha) + \frac{e^{\beta(x-m)}}{(x-m)^{-\alpha}},$$

for x > m, where $L(\lambda, x, t) = \sum_{n=0}^{\infty} \frac{e^{2\pi i \lambda n}}{(n+x)^t}$ is the Lerch zeta function and $Li_s(z) = \sum_{n=1}^{\infty} \frac{z^n}{n^s}$ is the polylogarithm function. Also, we have

$$f_{\sigma}(-m) = Li_{-\alpha}(e^{\beta}) - e^{-\beta m}L(\frac{\beta}{2\pi i}, -m, -\alpha) + \frac{e^{-\beta m}}{(-m)^{-\alpha}}$$

thus,

$$\sigma((x-m)^{\alpha}e^{\beta(x-m)}) = \frac{e^{\beta(x-m)}}{(x-m)^{-\alpha}} - e^{\beta(x-m)}L(\frac{\beta}{2\pi i}, x-m, -\alpha) + e^{-\beta m}L(\frac{\beta}{2\pi i}, -m, -\alpha) - \frac{e^{-\beta m}}{(-m)^{-\alpha}}.$$

Therefore, putting m = 0, we obtain

$$\sigma(x^{\alpha}e^{\beta x}) = L(\frac{\beta}{2\pi i}, 0, -\alpha) - e^{\beta x}L(\frac{\beta}{2\pi i}, x, -\alpha) + x^{\alpha}e^{\beta x}; \quad x > 0,$$

that is a closed form for limit summand function of $x^{\alpha}e^{\beta x}$.

In order to obtain a summation dual of Gauss multiplication formula,

it is sufficient, we collect the relationships sides obtained from (5) for values $1, 2, \dots, m-1$, up to we reach to the Gauss summation formula (for limit summand functions) as follows.

Corollary 3.5. (Gauss Summation Formula). Let $f:[1,+\infty) \to \mathbb{R}$ be a concave function such that R(f,1)=0 and m a fixed positive integer number. Then,

$$\sigma(\sum_{j=0}^{m-1} f(x-j)) = \sum_{j=0}^{m-1} f_{\sigma}(x-j) - f_{\sigma}(-j).$$

Proof. This is a direct consequence of Corollary 2. and Theorem 3.3 in [5]. \Box

Example 3.6. If $f(x) = \log_b(x)$, then f is concave and R(f,1) = 0. Thus, by using Example 2.5 of [4], we get

$$\sum_{j=0}^{m-1} f_{\sigma}(x-j) = \frac{1}{\ln b} \sum_{j=0}^{m-1} \Gamma(x+1-j),$$

$$\sum_{j=0}^{m-1} f_{\sigma}(-j) = \frac{1}{\ln b} \sum_{j=0}^{m-1} \Gamma(1-j),$$

for $x \ge 1$. Therefore

$$\sigma(\sum_{j=0}^{m-1} \log_b(x-j)) = \frac{1}{\ln b} (\sum_{j=0}^{m-1} \Gamma(x+1-j) - \Gamma(1-j)),$$

for $x \ge 1$.

Due to the basic relationship between the limit summand function and the Γ -type function, the following result can also be obtained.

Corollary 3.7. Let $f: \mathbb{R}^+ \to \mathbb{R}^+$ be a function and m a fixed positive integer number. If $\frac{f(n)}{f(n+1)} \to 1$ as $n \to \infty$, then,

$$\sigma(\log f(x - m)) = \log f^*(x - m + 1) - \log f^*(1 - m),$$

for $x \in D_{(\log f)_{\sigma}} + m + 1$. Notice that, since $\log f^*(x) = (\log f)_{\sigma}(x - 1)$, then $D_{\log f^*} = D_{(\log f)_{\sigma}}$.

Corollary 3.8. Suppose that $f:[1,+\infty) \to \mathbb{R}$ is a convex or concave (resp. monotone) function such that R(f,1) = 0 (resp. f(n) is convergent) and m a fixed positive integer number. Then, f satisfies (3) for $x \ge m+1$.

Now, by making use of a technique which is used in [4], we generalize the Theorem 3. in the case of $R_n(f,1)$ being convergent (not necessary to zero).

Theorem 3.9. Let f be a real or complex function with domain D_f such that $R_n(f,1)$ is convergent and m a fixed integer number. If $N^* \subseteq D_f + m$, then

$$\sigma(f(x-m)) = f_{\sigma}(x-m) - f_{\sigma}(-m) + mR(f,1)x; \ x \in D_{f_{\sigma}} + m + 1.$$
(6)

Proof. Put h(x) := f(x) + R(f,1)x. Then $\Sigma_h = \Sigma_f$, $h_{\sigma_n}(x) = f_{\sigma_n}(x)$ and $R_n(h,x) = R_n(f,x) - R(f,1)x$. Since $x \in D_{f_{\sigma}}$ and $R_n(f,1) \to R(f,1)$ as $n \to \infty$, then $R_n(f,x) \to xR(f,1)$, as $n \to \infty$, thus $R(h,x) = \lim_{x \to \infty} R_n(h,x) = 0$ and h is limit summable at x and

$$\sigma(h(x-m)) = h_{\sigma}(x-m) - h_{\sigma}(-m),$$

so,

$$\sigma(f(x-m) + R(f,1)(x-m)) = f_{\sigma}(x-m) - f_{\sigma}(-m),$$

thus,

$$\sigma(f(x-m)) = f_{\sigma}(x-m) - f_{\sigma}(-m) - R(f,1)\sigma(x-m)$$
$$= f_{\sigma}(x-m) - f_{\sigma}(-m) + mR(f,1)x,$$

therefore, the relation (6) is proved. \square

Note. In the studies conducted in this resarch, we realized that in the Theorem 5.1 (ii) in [9] the condition $\frac{g_1}{g_2} \in G$ is extra, for if $g_1, g_2 \in G$, then there exists g_1^* and g_2^* , and so $\frac{g_1^*}{g_2^*} = (\frac{g_1}{g_2})^*$ holds. Also, the condition $h_m \in G$ can be removed from Theorem 5.2 in the paper (because $g \in G$ implies that g^* exists and $g_m \in G$, thus g_m^* and also $\frac{g^*}{g_m^*} = h_m^*$ exist).

References

- [1] T. M. Apostol, Introduction to Analytic Number Theory, Springer, 1976.
- [2] E. Artin, The Gamma Function, Holt Rhinehart and Wilson, New York; Transl. by M. Butler (1931) from Einfuhrung un dfr Theoric der Gamma fonktion, Teubner, Leipzig, 1964.
- [3] M. H. Eghtesadi fard and M. H. Hooshmand, Inequalities Arising from Generalized Euler-type Constants Motivated by Limit Summability of Functions, *J. of Math. Inequalities*, 13 (1) (2019), 261-274.
- [4] M. H. Hooshmand, Limit Summability of Real Functions, *Real Analysis Exchange*, 27 (2001), 463-472.
- [5] M. H. Hooshmand, Another Look at the Limit Summability of Real Functions, *J. of Math. Extension*, 4 (2009), 73-89.
- [6] M. H. Hooshmand, Analytic Summability of Real and Complex Functions, J. Contemp. Math. Anal., 5 (2016), 262-268.
- [7] M. H. Hooshmand, Functional Sequential and Trigonometric Summability of Real and Complex Functions, *Int. J. Anal. Appl.*, 2 (2017), 222-228.
- [8] J. Sandor and B. Crstici, Handbook of Number Theory II, Volume 2, Springer, 2004.
- [9] R. J. Webster, Log-Convex Solutions to the Functional Equation f(x+1)=g(x)f(x): Γ -Type Functions, J. Math. Anal. Appl., 209 (1997), 605-623.

koohyar Eslami

Ph.D Student of Mathematics Department of Mathematics Shiraz Branch, Islamic Azad University Shiraz, Iran

E-mail: koohyareslami@gmail.com

Mohammad Hadi Hooshmand

Associate Professor of Mathematics Department of Mathematics Shiraz Branch, Islamic Azad University Shiraz, Iran

E-mail: hadi.hooshmand@gmail.com